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515 FER=004F B/ TE=28FE (X IHEEE HE 28FE
=2 =
y=g=] 5 X 54 =
F # m f& HiExesE BunErE F # | BIRE Hixe
b TiE (F) (a) (M) (M) (F) (kg) (M)
R AT 2,232 72,785.4| 2,636,174, 000 32, 970, 206
(NTETES 1,779 55,458.5| 2,093,441, 000 27,727, 367 319| 466, 176 61, 460, 740
HPLTREF 792|  13,675.8 412, 719, 000 6, 463, 740
(IBech - FTR) 977  19,513.3 616, 528, 000 8,921, 430 78 58,710| 6,675,610
&R A 154 3,009.9 115, 236, 000 1, 812, 222
(BEEE) 132 2,474. 0 88, 760, 000 1, 445, 030 8 6, 421 1, 126, 400
& &t 3,178  89,471.1| 3,164, 129, 000 41, 246, 168 405|  531,307| 69,262, 750
B4R E 2,888|  77,445.8| 2,798,729, 000 38, 093, 827 595| 910, 636| 148, 875, 860
i 110. 0% 115. 5% 113. 1% 108.3%  68.1% 58. 3% 46. 5%
(4)—a KBEAK [5ES]
5|5 FER=204E/ TR=-28FEIJIBEEEE WE 28F%
=, =
IEE gl - *& =
F # m iE HESEH BUInE £ F # | BIRE HES
X A4 (F) (a) (M) (M (F) (kg) (M)
AT 1,447| 48,095.9| 1,821,387, 000 17, 844, 738
(NTETSES 1,127 35,937.0| 1,410,829, 000 14, 880, 510 190 259, 661| 43,817,920
BT LT AL 252 3,846. 3 140, 302, 000 1, 758, 569
(IBech - FTER) 402 9,194. 1 360, 193, 000 4, 065, 002 47 44,039| 5,495, 160
L ERZ P 119 2,371. 4 97, 189, 000 1, 362, 830
(BLEE) 102 1, 960. 1 76, 980, 000 1,111, 150 4 2,644 507, 900
& 5 1,818 54,313.6| 2,058,878, 000 20, 966, 137 241| 306, 344| 49, 820, 980
B4 BE 1,631 47,091.2| 1,848,002, 000 20, 056, 662 372| 563, 476| 101, 408, 090
HETEFL | ) 5% 115. 3% 111. 4% 104.5%|  64.8% 54. 4% 49. 1%
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(4)—b #EAK (23]
552 FEG=204F B/ FER=28FE X IBEEE HE 285
Cll = # F
IHE
F # m fE HEEE g F & | BIRE HiExe
X% (F) (a) (M) (M) (F) (kg) (M)
bR AT 601 21,374.2 743, 977, 000 11, 247, 675
(=MTETES) 480 16, 365.0 613, 433, 000 9, 336, 987 96 165,936 13,517,150
BT LT AL 239 4,421.8 160, 522, 000 572,133
(1B ieth - FER) 253 4,660. 9 135, 442, 000 454,718 8 6, 587 521, 700
L ERZ AT 12 265.9 10, 650, 000 101, 365
(IBdLEE) 9 174. 4 6, 400, 000 86, 575 1 692 158, 700
& &t 852 26, 061.9 915, 149, 000 11,921, 173 105| 173,215| 14,197, 550
BIERE 742| 21, 200.3 755, 275, 000 9, 878, 280 131 270, 216| 35,638, 020
HETFL | 14 gy 122. 9% 121. 2% 120. 7%  80.2% 64. 1% 39. 8%
(1)—c #BEAX[TEEL]
5|5 FER=204FE/ TER=28FEIXIRESERE BT 285%
| =2 =
IEE g P *& =
F # m iE HESEH g F # | BIRE HES
S driE (F) (a) (M) (M) (F) (kg) (M)
AT 134 2, 243. 49, 050, 000 3,344, 673
EITERES) 120 2,061.0 40, 369, 000 2, 876, 050 18 16,263| 2,037, 470
HP LT RER 301 5,407. 7 111, 895, 000 4,133, 038
(IBech - FTER) 322 5, 658. 3 120, 893, 000 4,401, 710 23 8, 084 658, 750
L ERZ P 15 220. 6 5, 007, 000 261, 987
(IBdLERE) 13 201.3 3, 250, 000 170, 625 2 856 150, 600
& &t 450 7,871.6 165, 952, 000 7,739, 698 43 25,203| 2,846,820
B4 BE 455 7,920. 6 164, 512, 000 7,448, 385 91 74,811 11,608, 750
AT L 98. 9% 99. 4% 100. 9% 103.9%|  47.3% 33. 7% 24. 5%
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(1)—d #EAK [VAZ]
552 FEG=204F B/ FER=28FE (X IBEEE HE 28F%E
EE 5| 2 #H F
F % [T HEEE g F % | BRE HiExe
HE A (F) (a) (M) (M) (F) (kg) (M)
th R X 0 0.0 0 0 - - _
:IETES 0 0.0 0 0 - - -
AL ER 2 Fir 8 152.0 2, 390, 000 86, 040
(IBdLEE) 8 138.2 2, 130, 000 76, 680 1 2,229 309, 200
& &t 8 152.0 2, 390, 000 86, 040 1 2,229 309, 200
BIEE 8 138.2 2,130, 000 76, 680 0 0 0
HETELL 0. 0% 110. 0% 112. 2% 112. 2%
(1)—e #¥EAKX [HE]
5| EER=204FE/ TER=28FEIXIRESERE BT 285%
F % 1] HES%E Ve F & | BRE HES
HE A (F) (a) (M) (M) (F) (kg) (M)
PR 50 1,072.0 21, 760, 000 533, 120
(=MTET=ES) 52 1,095.5 28, 810, 000 633, 820 15 24,316| 2,088, 200
& &t 50 1,072.0 21, 760, 000 533, 120 15 24,316| 2,088, 200
BTERE 52 1,095.5 28, 810, 000 633, 820 1 2,133 221, 000
HMATEL | g6 oy 97. 9% 75. 5% 84, 1%| 1500. 0% 1140. 0% 944. 9%
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